C1> ALGEBRA Worksheet D

1 Giving your answers in descending powers of x, simplify
a (F+3x+2)+ (X7 +5x+1) b (F+4’+x-6)+ (" =3x+7)
¢ 4-x+2x)+ (B —x+6x"—5x) d +8 -5 -9)+(—x"'—4x+1)
e QX -TxX+2)—(x*+2x7 +x—-6) f (C+3x'—x=-3)-@*+2x°-3x+2)
g -9 +x+x) -G’ -4’ +x+5)  h 2(x*+4’-3)+(x*+3x° - 8)

i 3(7T+4x—x"—2x)+5(=2-3x+x) j o6 +5x*—2)-3(2x" —x*—x)
k 8(x*+2x —4x—1)—2(5-3x+x) TP +3x° +x7 —4) —42x° +x° = 3x = 7)

o

2 Simplify
a 3 +2y+ 1)+ -4+ T+ (27 -y -8y +5)
b 3¢t +40)+(6-1-3)+2(t* - 2>+ 4)
c (-6 +8)+ (5 —x+1) -2 +3x7+x-7)
d 2B +m+Tm* =3m’)+ 6(1 —m* + 2m*) = 5(m° + 3m®> — m* + 2)

2 a4 2 3
e 11 -2u+3uw+3u)-1Q-u+2u—-1u)

3 Giving your answers in ascending powers of x, simplify

a x(2-3x+x)+4(1+2x" —x) b x(x*+7x* —5x+9) - 2(x* — 4x’ - 3)

¢ 2x(-5+4x—x)+ 72 -3x" +x) d X’B+2x+x7)-3(5+4x" +x°)

e 3x’(x +3)—x(x’ +4x?) + 5(x° — 2x) f X6 —x+5x)+7x(2 —x")+4(1 - 3x —x7)
4 Show that

a Gx+ D' —2x+4)=3x -5+ 10x + 4
b (1+2x—x)(1-2x+x)=1—-4x"+4x" —x*

¢ B-xP =27-27x+9%-x

5 Giving your answers in descending powers of x, expand and simplify

a (x+1)(x*+5x—6) b (2x—5)(x*—3x+7)

¢ (4-Tx)2+5x—-x%) d 3x-2)°

e (X+3)2x*—x+9) f (4x— D' =3x"+5x+2)

g (F+2x+5)*+3x+1) h (F+x-3)2x" —x+4)

i (3x*—5x+2)2x" —4x—-28) i (7 +2x-6)

kK (¢ +4x°+ 1)Q2x' +x*+3) 1 (6-2x+x)3+x*—x" +2x%
6 Simplify

a (p’-Dp+4H2p+3)

b (t+2)(*+3t+5)+ @+ +1+7)

¢ 207 =3)*+x—4)+Bx— 1)@ +2x* —x +6)
d =4’ -3)u+2)— Q' +u—- D’ +5u-3)
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